Compatibility Test

Filename: compat

The Problem:

You're a programmer who is working for Mr. Arima, a rich young entrepreneur. He's single and has dated before, but he's tired of going on dates with people he's not compatible with. He wants you to write a program that calculates the compatibility a potential date may have with him, and output the results. Your program will receive input about a potential date's name, hair color, eye color, and attitude toward cats.  Mr. Arma’s specific tastes are listed below (everything else defaults to a rating of 3).

Characteristic:
Rating (1-5, 5 being best)

Blond Hair
4

Black Hair AND Blue Eyes*
2 (for both categories)

Brown Hair AND Brown Eyes*
5 (for both categories)

Green eyes
4


Likes cats
5

Dislikes cats
1

Once you get a score for each of the three categories (hair color, eye color, and feline attitude), calculate the compatibility by averaging the three scores within these categories, and outputting whether Mr. Arima is willing to date them (detailed below).

*- for example, a candidate having black hair and brown eyes will get the default 3 in hair and eye color categories.

Input Specification

First, your program must prompt the user for the following:

Please input your name:

Then, it should ask what hair color the user has, with 1 = blond, 2 = brown, 3 = black, 4 = other:

Please input your hair color (1 = blond, 2 = brown, 3 = black, 4 = other):

Your program will then receive an integer from standard input from the keyboard.  You are guaranteed that the user will not enter bad input (ie., it will be between 1 and 4 inclusive).

Your program should then ask what eye color the user has as follows: 

Please input your eye color (1 = blue, 2 = brown, 3 = green, 4 = hazel, 5 = other):

An integer will be received. (It will be in between 1 and 5, inclusive.)

Then ask whether they like cats. The program should prompt for the following:

Do you like cats (1 = yes, 0 = no): 

The user will then input an integer of 1 or 0.

Output Specification

Output a message depending on the result of the compatibility's test. Please use the following information to give the appropriate answer:

Score*
Output Message

(1-3]
Sorry, W, Mr. Arima just got a 
huge project, he will be very 
busy, I'm sorry.

(3-4]
W, Mr. Arima will call you 
whenever he can pencil you in.

(4-5]
When will you be available for
Mr. Arima? He will want to 
meet you, W.

*-The lower bound of the score range is exclusive.  For example, an average of 4.0 will be the second output, while 4.1 will be the third output.

The variable W represents the user's name.

Sample Input(with bold representing the input)

Please input your name:

Cristine

Please input your hair color (1 = blond, 2 = brown, 3 = black, 4 = other):

3

Please input your eye color (1 = blue, 2 = brown, 3 = green, 4 = hazel, 5 = other):

1

Do you like cats (1 = yes, 0 = no): 

1

Sample Output

Sorry, Cristine, Mr. Arima just got a huge project, he will be very busy, I'm sorry.

